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041: 200000000 B¥CO0000000.000000 [deg)000
0000000 [MeV].
| 6y | ?COOE|BCOODE| |6 |CO0E|BCODE]

1.37 7.49 7.48 27.37 6.03 5.90
2.37 7.48 7.47 28.37 5.93 5.79
3.37 7.47 7.46 29.37 5.83 5.68
4.37 7.45 7.44 30.37 5.72 5.57
5.37 7.43 7.42 31.37 5.62 5.45
6.37 7.41 7.39 32.37 5.51 5.34
7.37 7.38 7.36 33.37 5.40 5.22
8.37 7.35 7.32 34.37 5.29 5.10
9.37 7.31 7.28 35.37 5.17 4.97
10.37 7.27 7.24 36.37 5.06 4.85
11.37 7.23 7.19 37.37 4.94 4.72
12.37 7.18 7.14 38.37 4.83 4.60
13.37 7.12 7.08 39.37 4.71 4.47
14.37 7.07 7.02 40.37 4.59 4.34
15.37 7.01 6.96 41.37 4.47 4.21
16.37 6.95 6.89 42.37 4.35 4.08
17.37 6.88 6.82 43.37 4.23 3.95
18.37 6.81 6.74 44.37 4.11 3.82
19.37 6.73 6.66 45.37 3.98 3.69
20.37 6.66 6.58 46.37 3.86 3.56
21.37 6.58 6.49 47.37 3.74 3.43
22.37 6.49 6.40 48.37 3.62 3.30
23.37 6.41 6.30 49.37 3.50 3.17
24.37 6.32 6.21 50.37 3.38 3.04
25.37 6.22 6.11 51.37 3.26 2.91
26.37 6.13 6.01 52.37 3.14 2.79
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042 0000000 3000

014 (deg) ‘ Integral ‘ entry ‘ ratio(Integral /entry) ‘

12 9218 | 9781 0.9424
14 8642 | 9184 0.9410
16 8378 | 8894 0.9420
18 7806 | 8318 0.9384
20 5063 | 5419 0.9343
22 4927 | 5296 0.9303
24 4722 | 5152 0.9165
26 4784 | 5221 0.9163
28 4711 | 5137 0.9171
30 4635 | 5085 0.9115
32 5005 | 5534 0.9044
34 4626 | 5114 0.9046
36 3528 | 5153 0.6846
38 3476 | 5184 0.6705
40 3831 | 5438 0.7045
42 3872 | 5071 0.7636
44 3996 | 5104 0.7829
46 3923 | 5094 0.7701
48 4871 | 5071 0.9606
50 4981 | 5056 0.9852
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043 0000000 3000

014 (deg) ‘ Integral ‘ Entry ‘ Ratio(Integral /Entry) ‘

12 9218 | 9781 0.9317
14 8642 | 9184 0.9317
16 8378 | 8894 0.9317
18 7806 | 8318 0.9317
20 5063 | 5419 0.9317
22 4927 | 5296 0.9317
24 4722 | 5152 0.9317
26 4784 | 5221 0.9317
28 4711 | 5137 0.9317
30 4635 | 5085 0.9317
32 5005 | 5534 0.9317
34 4626 | 5114 0.9317
36 4801 | 5153 0.9317
38 4830 | 5184 0.9317
40 5066 | 5438 0.9317
42 4724 | 5071 0.9317
44 4755 | 5104 0.9317
46 4746 | 5094 0.9317
48 4871 | 5071 0.9317
50 4981 | 5056 0.9317
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Listing 1: 12C-12CO000000 Blair 0 0000000000000 OCOO

,//000000000000000000000OO0
//0000000000000D0000OO0
,/00000000000O00C0O0O0O0COOOOOOOO0OCOOOOOGOO0OOO0OO0O00AO

#include <stdio.h>

#include <math.h>

#include <gsl/gsl_sf.h>

#include <gsl/gsl_complex.h>
#include <gsl/gsl_complex_math.h>

int main(void){

int n,j,1,1lmax,1l_p,Z;

double A,B,C,D,G,X;

double phi,pi,PHI,Ecm,Elab,eta,h,h_p,mu,Na,Na_p;
double epsilon,epsilon_p,tr,tr_p;

//000000000000000DO

gsl_sf_result 1lnrl,lnr2,1lnr3,1lnré4;
gsl_sf_result thetal,theta2,theta3,theta4;
gsl_sf_result a;

gsl_complex z1,z2,z3,z4,z7,z8;

FILE x*xfout;

//00000

Z = 6;

pi = 3.14159265;

Elab = 7.5;

Ecm = Elab/2;

h = 6.626068e-34;

mu 6;

Na 6.0221415e+23;
tr=1.6021765e-19;
epsilon=8.85418782e-12;

/0000000000000

h_p = h*1.0e+34;

Na_p = Nax*1.0e-23;

tr_p = tr*1.0e+19;

epsilon_p = epsilon*1.0e+12;

eta=ZxZ*tr_p*tr_pxsqrt(mu)/(2*epsilon_p*h_p*sqrt (20%xEcm*tr_p*Na_p))*1.0e+2;
A = pow((Z*Z*tr_p)/(8*Elabxpi*epsilon_p) ,2)*1.0e-26;

,//0000000000000D00O
gsl_complex p;
GSL_SET_COMPLEX (&p,0,0);

,//0000000000000000000O0O0oOOoOg
for (1=0;1<=4;1++){
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95

101

lmax = 2%1;
1_p=1;

if (lmax==0){
fout=fopen("blair_1212_lmax=0.dat","w");

}

else if(lmax==2){
fout=fopen("blair_1212_lmax=2.dat","w");

}

else if (lmax==4){
fout=fopen("blair_1212_lmax=4.dat","w");

}

else if (lmax==6){
fout=fopen("blair_1212_lmax=6.dat","w");

}

else if (lmax==8){
fout=fopen("blair_1212_lmax=8.dat","w");

}

//000000000000000CDOODOOOO
for(n=0;n<=120;n++){

}

phi = (20+1x(double)n)/180%pi;

int statusl = gsl_sf_lngamma_complex_e(l,eta,&lnrl ,&thetal);
printf ("statusl = %s\n", gsl_strerror(statusl));

int status2 = gsl_sf_lngamma_complex_e(1l,-eta,&lnr2,&theta2);
printf ("status2 = %s\n", gsl_strerror(status2));

B = exp(lnril.val-1lnr2.val)/pow(sin(phi/2),2);
C exp(lnrl.val-1nr2.val)/pow(cos(phi/2),2);

double theta_dif=thetal.val-theta2.val;
z1 = gsl_complex_polar(B,theta_dif-eta*log(pow(sin(phi/2),2)));
z2 = gsl_complex_polar (C,theta_dif -eta*log(pow(cos(phi/2),2)));

27 = gsl_complex_add(zl,z2);
24 = p;

for(j=0;j<=1_p;j++){
int status_legendre = gsl_sf_legendre_Pl_e(2*j,cos(phi),&a);
printf ("status_legendre = %s\n", gsl_strerror(status_legendre));

int status3 = gsl_sf_lngamma_complex_e(2*j+1,eta,&lnr3,&thetaS);
printf ("status3 = %s\n", gsl_strerror(status3));

int status4 = gsl_sf_lngamma_complex_e (2*j+1,-eta,&lnr4 ,&thetad);
printf ("status4 = %s\n", gsl_strerror(statusé4));

D = (2*%2*j+1)*a.val*exp(lnr3.val-1nr4.val);
z3 = gsl_complex_polar (2*D/eta,pi/2+theta3.val-thetad.val);
z4 = gsl_complex_add(z4,z3);

z8 = gsl_complex_sub(z7,z4);
G = gsl_complex_abs2(z8);
X = AxG*1.0e+28;

PHI=phi*180/pi;
fprintf (fout,"%1f\t%e\n",PHI,X);
}

fclose(fout);
return O;

}
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Listing 2: 13C-13CO000000 Blar 00 000000000000 OCOO

1| »,»/000000000000O0CDOOOO0O0OOD

2

3| #include <stdio.h>

4| #include <math.h>

5| #include <gsl/gsl_sf.h>

6| #include <gsl/gsl_complex.h>

7 #include <gsl/gsl_complex_math.h>

8 int main(void){

9 int n,j,k,1,1lmax,1l_p;

10 int Z;

11 | double A,B,C,D,F,G,H,X1,X2,X;

12 double a,h;

13 double phi,pi,PHI;

14 double Ecm,Elab,eta;

15 double h_p,mu,Na,Na_p;

16 | double epsilon,epsilon_p,tr,tr_p;

17

18 gsl_sf_result 1lnrl,lnr2,1lnr3,1lnr4,1lnr5,1nr6;
19 gsl_sf_result thetal,theta2,theta3,theta4,thetab,thetab;
20 gsl_complex zl1,z2,z3,z4,25,26,27,28,29,2z10;
21

22 FILE *fout;

23

24 Z = 6;

25 | pi = 3.14159265;

26 Elab = 7.5;

27| Ecm = Elab/2;

28| h = 6.626068e-34;

29 mu = 6.5;

30| Na = 6.0221415e+23;

31| tr=1.6021765e-19;

32| epsilon=8.85418782e-12;

33

34 h_p = h*x1.0e+34;

35 Na_p = Nax*1.0e-23;

36 tr_p = tr*1.0e+19;

37 | epsilon_p = epsilon*1.0e+12;

38

39 | eta=ZxZ*xtr_p*tr_pxsqrt(mu)/(2*epsilon_p*h_p*sqrt (20*Ecm*tr_p*Na_p))*1.0e+2;
40

41| A = pow((Z*Zxtr_p)/(8*Elab*pi*epsilon_p) ,2)*1.0e-26;
42

43 | gsl_complex p;

44 | GSL_SET_COMPLEX (&p,0,0);

45

46 for (1=0;1<=4;1++){

47 | lmax=2%1;

48 1_p=1;

49

50 | if (lmax==0){

51 fout=fopen("blair_1313_lmax=0.dat","w");
52 | }

53 | else if (lmax==2){

54 fout=fopen("blair_1313_lmax=2.dat","w");
55 | }

56 | else if (1lmax==4){

57 | fout=fopen("blair_1313_lmax=4.dat","w");
58 | }

59 | else if (lmax==6){

60 | fout=fopen("blair_1313_1lmax=6.dat","w");
61| ¥

62| else if(lmax==8){

63 fout=fopen("blair_1313_lmax=8.dat","w");
64 | }

65

66 | for(n=0;n<=120;n++){

67 phi = (20+1x(double)n)/180%*pi;

68

69 int statusl = gsl_sf_lngamma_complex_e(1,eta,&lnrl,&thetal);
70 int status2 = gsl_sf_lngamma_complex_e(1l,-eta,&lnr2,&theta2);
71

70



72
73
74
75
76
77
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94
95
96
97
98
99

101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120
121
122
123

zl
z2

}
}

B = exp(lnril.val-1lnr2.val)/pow(sin(phi/2),2);
c exp(lnrl.val-1nr2.val)/pow(cos(phi/2),2);

double theta_dif-thetal.val-theta2.val;

= gsl_complex_polar(B,thetal.val-theta2.val-eta*log(pow(sin(phi/2),2))) |
= gsl_complex_polar(C,thetal.val-theta2.val-eta*log(pow(cos(phi/2),2))) |
z4 = p;

27 = gsl_complex_sub(z1l,z2);

for(j=0;j<1l_p;j++){
a = gsl_sf_legendre_P1l(2xj+1,cos(phi));
int status3 = gsl_sf_lngamma_complex_e(2*j+1+1,eta,&lan,&thetaB);
printf ("status3 = %s\n", gsl_strerror(status3));
int status4 = gsl_sf_lngamma_complex_e(2*j+1+1,—eta,&lnr4,&theta4);
printf ("status4 = %s\n", gsl_strerror(status4));
D = (2*%(2*xj+1)+1)*a*xexp(1lnr3.val-1nr4.val);
double cl=pi/2+thetal3.val-thetad.val;
z3 = gsl_complex_polar (2xD/eta,cl);
z4 = gsl_complex_add(z4,z3);

z8 = gsl_complex_sub(z7,z4);
G = gsl_complex_abs2(z8);

X1 = A*G*1.0e+28;

z6 = p;

z10 = gsl_complex_add(zl,z2);

for(k=0;k<=1_p;k++){
a = gsl_sf_legendre_Pl(2xk,cos(phi));
int statusb5 = gsl_sf_lngamma_complex_e (2*k+1l,eta,&lnr5,&thetab);
printf ("status5 = ¥%s\n", gsl_strerror(status5));
int status6 = gsl_sf_lngamma_complex_e (2*k+1,-eta,&lnr6 ,&thetad);
printf ("status6 = %s\n", gsl_strerror(status6));
F = (2x(2xk)+1)*a*xexp(lnr5.val)/exp(lnr6.val);
double c2=pi/2+thetab.val-theta6.val;
z5 = gsl_complex_polar (2*¥F/eta,c2);
z6 = gsl_complex_add(z6,z5);
}

z9 = gsl_complex_sub(z10,z6);
H = gsl_complex_abs2(z9);

X2 = A*Hx1.0e+28;

X = 3%X1/4+X2/4;

PHI=phi*180/pi;
fprintf (fout,"%1f\t%e\n",PHI ,X);

fclose(fout);
return O;

}
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58
59
60
61
62
63
64
65
66
67
68
69
70
71

Listing 3: 12C-12C0O00000000000O0O0OO

,//00000000
,//000000000000000000
,//0000000000000000000000000O00O00O0O0DO0O0000OO0

#include <stdio.h>

#include <math.h>

#include <gsl/gsl_sf.h>

#include <gsl/gsl_complex.h>
#include <gsl/gsl_complex_math.h>

#define N 5
#define K 20
#define M 2

int main(void){

int n,j,lmax,Z;

int wO,w2,w4,w6,w8,k,1l,s,q;

double A,B,C,D,G,X;

double a,h,phi,pi,Ecm,Elab,eta,h_p,mu,Na,Na_p,epsilon,epsilon_p,tr,tr_p;
double gO0,g2,g4,g6,g8,g[N];

double dif,chi,CHI,Input[M][K],Error[M][K];

gsl_sf_result 1lnrl,lnr2,1lnr3,1lnré4;
gsl_sf_result thetal,theta2,theta3,theta4;
gsl_complex z1,z2,z3,z4,z7,z8;

FILE *fin,*xfin2;
fin=fopen("exp_1212_angle_modified_const_multiplied.txt","r");
fin2=fopen("errors_for_exp_1212_angle_modified_const_multiplied.txt","r");

,/00000000
for(1=0;1<K;1++){
for (k=0;k<M;k++){
fscanf (fin,"%1f" ,&Input [k]1[1]1);
¥
fprintf (fin,"\n");

fclose (fin);

//000000000040d
for(q=0;q<K;q++){
for(s=0;s<M;s++){
fscanf (fin2,"%1f" ,&Error[s][ql);
}
fprintf (£in2,"\n");
}

fclose(£fin2);

Z = 6;
pi = 3.14159265;
Elab = 7.5;

Ecm = Elab/2;

h = 6.626068e-34;

mu = 6;

Na = 6.0221415e+23;
tr=1.6021765e-19;
epsilon=8.85418782e-12;

h_p = h*1.0e+34;

Na_p = Nax*x1.0e-23;

tr_p = tr*1.0e+19;

epsilon_p = epsilon*1.0e+12;

eta=Z*Zxtr_p*tr_p*sqrt(mu)/(2*xepsilon_p*h_p*sqrt (20¥Ecm*tr_p*Na_p))*1.0e+2}
A = pow((Z*Z*tr_p)/(8*Elab*pi*epsilon_p),2)*1.0e-26;

gsl_complex p;
GSL_SET_COMPLEX (&p,0,0);

72



72
73
74
75
76
77
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94
95

110
111
112
113
114
115
116
117
118
119

lmax = 8;
CHI=100; //00000000000O00COO

,/00000000000000DOO
for (wO=0;w0<=10;wO0++){
g[0]1=(double)w0/100;
for(w2=0;w2<=10;w2++){
gl[1]1=(double)w2/100;
for (wd=0;wd<=10;wd++){
g[2]=(double)wd/100;
for (w6=0;w6<=10;w6++){
g[3]=(double)w6/100;
for (w8=0;w8<=10;w8++){
gl4]=(double)w8/100;

,//000000000000000C0ODODOO00
for(n=0;n<=19;n++){
phi = (24+4*x(double)n)/180%*pi;

int statusl = gsl_sf_lngamma_complex_e(1,eta,&lnrl,&thetal);
int status2 = gsl_sf_lngamma_complex_e(1l,-eta,&lnr2,&theta2);

B = exp(lnril.val)/(exp(lnr2.val)*pow(sin(phi/2),2));
C = exp(lnril.val)/(exp(lnr2.val)*pow(cos(phi/2),2));

double theta_dif = thetal.val-theta2.val;
z1l = gsl_complex_polar(B,theta_dif-eta*log(pow(sin(phi/2),2)));
z2 = gsl_complex_polar (C,theta_dif -eta*log(pow(cos(phi/2),2)));

z4 = p;

for (j=0;j<=1lmax/2;j++){
a = gsl_sf_legendre_P1l(2xj,cos(phi));
int status3 = gsl_sf_lngamma_complex_e (2*j+1,eta,&lnr3 ,&thetad);
int status4 = gsl_sf_lngamma_complex_e (2*j+1,-eta,&lnr4 ,&thetad);
D = (2*2xj+1)*a*exp(lnr3.val)/exp(lnréd.val);
double cl=pi/2+theta3.val-thetad.val;

z3 = gsl_complex_polar(g[jl*2xD/eta,cl);
z4 = gsl_complex_add(z4,z3);

z7 = gsl_complex_add(zl,z2);
z8 = gsl_complex_sub(z27,z4);
G = gsl_complex_abs2(z8);

X A*G*1.0e+28;

dif = dif + pow ((Input[1][n]-X),2)/pow(Error[1][n],2);
}

chi=dif/19;

,/000000000000000000
if (chi < CHI){

CHI = chi;
g0 = gl[o0]l;
g2 = gl1];
g4 = gl21;
g6 = gl3];
g8 = gl4l;
}

3333

printf ("Chi-squared = %1f\n",CHI);

printf ("Best estimates are:\ngO=Ye\ng2=je\ngd=Ve\n",g0,g2,g4);
printf ("g6=Ve\ng8=%e\n",g6,g8);

return O;

}
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Listing 4: 13C-13CO00000000O00ODO0OOO

1| ,»/00000000

2

3| #include <stdio.h>

4| #include <math.h>

5| #include <time.h>

6| #include <gsl/gsl_sf.h>

7| #include <gsl/gsl_complex.h>

8| #include <gsl/gsl_complex_math.h>
9

10 | #define N 5

11 #define K 21

12 | #define M 2

13

14 | int main(void){

15 int n,j,lmax,1l_p,s,q;

16 int Z;

17 | double A,B,C,D,F,G,H,X1,X2,X;

18 | double a,h;

19 | double phi,pi;

20 double Ecm,Elab,eta;

21 double h_p,mu,Na,Na_p;

22 | double epsilon,epsilon_p,tr,tr_p;
23 | double g0,gl,g2,g3,g4;

24 double dif ,CHI,chi;

25 int wO,wl,w2,w3,wd;

26 int k,1l,m;

27 | double Input[M][K],Error[M][KI];
28 | double g[N];

29

30 gsl_sf_result 1lnrl,lnr2,1lnr3,1lnr4,1lnr5,1nr6;
31 gsl_sf_result thetal,theta2,theta3,thetad4,thetab,theta6;
32 gsl_complex z1,z2,z3,z4,25,26,27,28,29,z10;
33| gsl_complex p;

34 | GSL_SET_COMPLEX (&p,0,0);

35

36 | FILE *fin ,*fin2;

37| fin=fopen("exp_1313_angle_modified_const_multiplied.txt","r"
38 fin2=fopen("errors_for_exp_1313_angle_modified_const_multiplied.txt","r");
39

40

41 | for(l=0;1<K;1l++){

42 for (m=0;m<M;m++){

43 fscanf (fin,"%1f" ,&Input [m][11);
44 }

45 fprintf (fin,"\n");

46 | ¥

47

48 | fclose(fin);

49

50 | for(q=0;q<K;q++){

51 for(s=0;s<M;s++){

52 fscanf (fin2,"%1f" ,&Error [s][ql);
53 }

54 fprintf (fin2,"\n");

55 | }

56

57 | fclose(fin2);

58

59 Z = 6;

60 | pi = 3.14159265;

61 Elab = 7.5;

62 | Ecm = Elab/2;

63| h = 6.626068e-34;

64| mu = 6.5;

65| Na = 6.0221415e+23;

66 | tr=1.6021765e-19;

67 | epsilon=8.85418782e-12;

68

69| h_p = hx1.0e+34;

70 Na_p = Nax*1.0e-23;

71 tr_p = tr*1.0e+19;
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72 | epsilon_p = epsilon*1.0e+12;

73

74 | eta=Z*Zxtr_pxtr_p*sqrt(mu)/(2*epsilon_p*h_p*sqrt (20%Ecm*tr_p*Na_p))*1.0e+2}
75

76 | A = pow((ZxZ*xtr_p)/(8*Elab*pi*epsilon_p) ,2)*1.0e-26;
77

78 lmax = 4;

79 1_p=1lmax/2;

80

81 CHI=100;

82

83 | for(w0=0;w0<=10;w0++){

84 gl[0]=(double)w0/100;

85 for(wil=0;wl<=10;wi++){

86 gl[1]=(double)w1/100;

87 for(w2=0;w2<=10;w2++){

88 gl[2]=(double)w2/100;

89 for (w3=0;w3<=10;w3++){

90 g[3]1=(double)w3/100;

91 for (wd=0;wd<=10;wd++){

92 gl[4]=(double)wd/100;

93

94 | for(n=0;n<=20;n++){

95 if (n==0){

96 phi=32;

97 }

98 else if(n==1){

99 phi=40;

100 }

101 else if(n==13){

102 continue;

103 }

104 elseq{

105 phi = (40+4x(double)n)/180%*pi;

106 }

107

108 int statusl = gsl_sf_lngamma_complex_e(l,eta,&lnrl ,&thetal);
109 int status2 = gsl_sf_lngamma_complex_e(1,—eta,&lnr2,&thetaQ);
110

111 B = exp(lnril.val-1lnr2.val)/pow(sin(phi/2),2);

112 C = exp(lnrl.val-1nr2.val)/pow(cos(phi/2),2);

113

114 double theta_dif=thetal.val-theta2.val;

115 z1 = gsl_complex_polar (B,theta_dif -eta*log(pow(sin(phi/2),2)));
116 z2 = gsl_complex_polar(C,theta_dif-eta*log(pow(cos(phi/2),2)));
117

118 z4 = p;

119

120 »,/000000000000000O0

121 z7 = gsl_complex_sub(zl,z2);

122

123 for(j=0;j<l_p;j++){

124 a = gsl_sf_legendre_Pl(2*j+1,cos(phi));

125

126 int status3 = gsl_sf_lngamma_complex_e (2*j+1,eta,&lnr3 ,&theta3);
127 int status4 = gsl_sf_lngamma_complex_e (2*j+1,-eta,&lnr4 ,&thetad);
128

129 D = (2*%(2xj+1)+1)*a*xexp(1lnr3.val)/exp(lnrd.val);
130

131 double cl=pi/2+thetal3.val-thetad.val;

132 z3 = gsl_complex_polar(gl[2*xj+1]*2*D/eta,cl);

133 z4 = gsl_complex_add(z4,z3);

134 ¥

135

136 z8 = gsl_complex_sub(z7,z4);

137 G = gsl_complex_abs2(z8);

138 X1 = A*xG*1.0e+28;

139

140 z6 = p;

141

142 //000000000000000

143 210 = gsl_complex_add(zl,z2);

144

145 for(k=0;k<=1_p;k++){
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146 a = gsl_sf_legendre_P1l(2xk,cos(phi));

147

148 int statusb = gsl_sf_lngamma_complex_e (2*k,eta,&lnr5,&thetab);
149 int status6 = gsl_sf_lngamma_complex_e (2*%k,-eta,&1lnr6 ,&thetab);
150

151 F = (2x(2*k)+1)*a*exp(lnr5.val)/exp(lnr6.val);

152

153 double c2=pi/2+thetab.val-theta6.val;

154 z5 = gsl_complex_polar (g[2xk]*2*F/eta,c2);

155 z6 = gsl_complex_add(z6,z5);

156 }

157

158 z9 = gsl_complex_sub(z10,z6);

159 H = gsl_complex_abs2(z9);

160 X2 = AxHx*1.0e+28;

161

162 X = 3%X1/4+X2/4;

163

164 | dif = dif + pow ((Input[1][n]l-X),2)/pow(Error[1]1[n],2);
165 | }
166 | chi = dif/7;

167

168 | if (chi < CHI){
169 CHI = chi;
170 g0 = glol;
171 gl = gl1l;
172 g2 = gl2];
173 g3 = gl3];
174 g4 = gl4];
175 ¥

176

177 | 333}

178

179 | printf ("Reduced chi square = %1f\n",CHI);

180 | printf ("Best estimates are\ng0O=%1f\ngl=)%1f\ng2=)1f\n",g0,gl,g2);
181 printf ("g3=%1f\ng4=/1f\n",g3,g4);

182 | return O;

183 | }
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57
58
59
60
61
62
63
64
65
66
67
68
69
70

Listing 5: 12C-12C 0000000000000 0ODODOOOCOOOODOO
obooooooooon

»,,/0000000000000O0O00O0O0COOOOCOOOO0O0

#include <stdio.h>

#include <math.h>

#include <gsl/gsl_sf.h>

#include <gsl/gsl_complex.h>
#include <gsl/gsl_complex_math.h>

#define N 3
#define K 20
#define M 2

int main(void){

int i,n,j,k,1l1,s,q,1lmax,m,w0,w2,wd,Z;
double A,B,C,D,G,X,Y,Const;

double Phi,pi,dphi,dPhi,Ecm,Elab,eta;
double a,h,h_p,mu,Na,Na_p;

double epsilon,epsilon_p,tr,tr_p;
double g0,g2,g4,dif,chi,CHI;

double Input[M][K],glN];

gsl_sf_result 1lnrl,lnr2,1lnr3,1lnré4;
gsl_sf_result thetal,theta2,theta3,thetad;
gsl_complex z1,z2,z3,z4,z7,z8;

FILE *fin;
fin=fopen("exp_1212.txt","r");

//00000000
for (1=0;1<K;1++){
for(k=0;k<M;k++){
fscanf (fin,"%1f" ,&Input [k]1[1]);
}
fprintf (fin,"\n");
}

fclose (fin);

Z = 6;

pi = 3.14159265;
Elab = 7.5;

Ecm = Elab/2;

h = 6.626068e-34;
mu = 6;

Na = 6.0221415e+23;
tr=1.6021765e-19;
epsilon=8.85418782e-12;

h_p = h*1.0e+34;

Na_p = Nax*1.0e-23;

tr_p = tr*1.0e+19;

epsilon_p = epsilonx*1.0e+12;
eta=Z*Z*tr_p*tr_p*sqrt(mu)/(2*xepsilon_p*h_p*sqrt (20*xEcm*tr_p*Na_p))*1.0e+2}
A = pow((Z*Z*tr_p)/(8+Elab*pi*epsilon_p) ,2)*1.0e-26;

gsl_complex p;
GSL_SET_COMPLEX (&p,0,0);

lmax = 4;
CHI=100;

for(w0=0;w0<=10;w0++){
g[0]1=(double)w0/100;
for (w2=0;w2<=10;w2++){
gl1]=(double)w2/100;
for(wd=0;wd<=10;wd++){
gl2]=(double)wd/100;

for(i=1;i<=200;i++){
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71
72
73
74
75
76
7
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94
95
96
97
98
99

101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120
121
122
123
124
125
126

Y=0.01*(double)i; /00000000

for (m=0;m<=40;m++) {
dphi=-2+0.1*(double)m; /00000000
dif=0;

for(n=0;n<=19;n++){
Phi = (24+4*(double)n+dphi)/180%pi;
int statusl = gsl_sf_lngamma_complex_e(l,eta,&lnrl ,&thetal);
int status2 = gsl_sf_lngamma_complex_e(1l,-eta,&lnr2,&theta2);
B = exp(lnril.val)/(exp(lnr2.val)*pow(sin(Phi/2),2));
C = exp(lnril.val)/(exp(lnr2.val)*pow(cos(Phi/2),2));
double theta_dif = thetal.val-theta2.val;
z1l = gsl_complex_polar(B,theta_dif-eta*log(pow(sin(Phi/2),2)));
z2 = gsl_complex_polar(C,theta_dif-eta*log(pow(cos(Phi/2),2)));

z4 = p;

for(j=0;j<=1lmax/2;j++){
a = gsl_sf_legendre_Pl(2*j,cos(Phi));
int status3 = gsl_sf_lngamma_complex_e (2*j+1,eta,&lnr3 ,&thetad);
int status4 = gsl_sf_lngamma_complex_e(2*j+1,—eta,&1nr4,&theta4);
D = (2*2xj+1)*a*exp(lnr3.val)/exp(lnréd.val);
double cl=pi/2+thetald.val-thetad.val;
z3 = gsl_complex_polar(gl[jl*2*D/eta,cl);
z4 = gsl_complex_add(z4,z3);
}

z7 = gsl_complex_add(zl,z2);

z8 = gsl_complex_sub(27,2z4);

G = gsl_complex_abs2(z8);

X = AxG*1.0e+28;
dif = dif + pow((Input[1][n]-Y*X),2)/(Y*X);
}

chi=dif/15;

,/0000000000000000
if (chi < CHI){

CHI = chi;
g0 = glo0]l;
g2 = glil;
g4 = gl2];

Const = Y;
dPhi = dphi;
}
else continue;
}
}

138

printf ("Reduced chi square = %1f\n",CHI);

printf ("Best estmts of abs coeffs are\ng0=%1f\ng2=/1f\ng4=%1f\n",g0,g2,g4);
printf ("Best estmts of cnsts are\nConst=%1f\ndPhi=)1f\n",Const,dPhi);
return O;

}
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57
58
59
60
61
62
63
64
65
66
67
68
69
70

Listing 6: 13C-13C 0000000000000 ODODODOOCOOOODOO
obooooooooon

»,,/0000000000000O0O00O0O0COOOOCOOOO0O0

#include <stdio.h>

#include <math.h>

#include <gsl/gsl_sf.h>

#include <gsl/gsl_complex.h>
#include <gsl/gsl_complex_math.h>

#define N 3
#define K 20
#define M 3

int main(void){

int n,j,s,q,Z,k,1,m,i,t;

int lmax,l_p,wO0,wl,w2;

double A,B,C,D,F,G,H,X1,X2,X,Y,Const;
double Phi,dphi,dPhi,pi,Ecm,Elab,eta;
double a,h,h_p,mu,Na,Na_p;

double epsilon,epsilon_p,tr,tr_p;
double gO,gl,g2,dif ,CHI,chi;

double Input[M][K],g[N];

gsl_sf_result 1lnrl,lnr2,1lnr3,1lnr4,1lnr5,1nr6;
gsl_sf_result thetal,theta2,theta3,thetad4,thetab,thetab;
gsl_complex z1,z2,z3,z4,25,26,27,28,29,2z10;

gsl_complex p;

GSL_SET_COMPLEX (&p,0,0);

FILE *fin;
fin=fopen("exp_1313.txt","r");

for (1=0;1<K;1++){
for (m=0;m<M;m++){
fscanf (fin,"%1f" ,&Input [m]1[1]);
}
fprintf (fin,"\n");
}

fclose (fin);

Z = 6;
pi = 3.14159265;
Elab = 7.5;

Ecm = Elab/2;

h = 6.626068e-34;

mu = 6.5;

Na = 6.0221415e+23;
tr=1.6021765e-19;
epsilon=8.85418782e-12;

h_p = h*1.0e+34;

Na_p = Nax*1.0e-23;

tr_p = tr*1.0e+19;

epsilon_p = epsilon*1.0e+12;

eta=Z*Z*xtr_p*tr_p*sqrt(mu)/(2*xepsilon_p*h_p*sqrt (20¥Ecm*tr_p*Na_p))*1.0e+2}
A = pow((ZxZ*tr_p)/(8*Elab*pi*epsilon_p) ,2)*1.0e-26;

lmax = 2;
1_p=1lmax/2;
CHI=100;

for(w0=0;w0<=10;w0++){
g[0]1=(double)w0/10;
for(wi=0;w1<=10;wil++){
gl[1]1=(double)wl/10;
for (w2=0;w2<=10; w2++){
gl[2]=(double)w2/10;

for(i=1;i<=20;i++){
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71 Y=0.1*(double)i;

72 for(t=0;t<=40;t++){
73 dphi=-2+0.1x(double)t;
74 dif=0;

75
76 | for(n=0;n<20;n++){

77 if (n==0){

78 Phi=(32+dphi)/180*pi;

79 }

80 else if (n==1){

81 Phi=(40+dphi)/180%pi;

82 }

83 else if(n<12){

84 Phi=(40+4*(double)n+dphi)/180%*pi;
85 ¥

86 else if(n==12){

87 continue;

88 }

89 elseq{

90 Phi=(44+4*(double)n+dphi)/180*pi;
91 }

92

93 | int statusl = gsl_sf_lngamma_complex_e(l,eta,&lnrl ,&thetal);

94 int status2 = gsl_sf_lngamma_complex_e(l,-eta,&lnr2,&theta2);

95 | B = exp(lnrl.val-1lnr2.val)/pow(sin(Phi/2),2);

96 | C = exp(lnril.val-1lnr2.val)/pow(cos(Phi/2),2);

97| z1 = gsl_complex_polar(B,thetal.val-theta2.val-eta*log(pow(sin(Phi/2),2)));
98 | z2 = gsl_complex_polar(C,thetal.val-theta2.val-eta*log(pow(cos(Phi/2),2)));
99 | z4 = p;

101 ,//0000000000000000
102 | z7 = gsl_complex_sub(zl,z2);

103

104 | for(j=0;j<1_p;j++){

105 a = gsl_sf_legendre_Pl(2*j+1,cos(Phi));

106 int status3 = gsl_sf_lngamma_complex_e (2*j+1,eta,&lnr3 ,&theta3);
107 int status4 = gsl_sf_lngamma_complex_e (2*j+1,-eta,&lnr4 ,&thetad);
108 D = (2%(2%j+1)+1)*a*exp(lnr3.val)/exp(lnrd.val);

109 double cl=pi/2+theta3.val-theta4.val;

110 z3 = gsl_complex_polar (g[2*j+1]*2*D/eta,cl);

111 z4 = gsl_complex_add(z4,z3);

112 }

113 | 28 = gsl_complex_sub(z7,z4);
114 | G = gsl_complex_abs2(z8);
115 | X1 = A*G*1.0e+28;

116

17 | //00000000000000OO

118 z6 = p;

119 | z10 = gsl_complex_add(zl,z2);

120

121 | for (k=0;k<=1_p;k++){

122 a = gsl_sf_legendre_Pl(2*k,cos(Phi));

123 int statusb5 = gsl_sf_lngamma_complex_e (2*k,eta,&lnr5 ,&thetab);
124 int status6 = gsl_sf_lngamma_complex_e (2%k,-eta,&lnr6 ,&theta6);
125 F = (2*(2*k)+1)*a*exp(lnr5.val)/exp(lnr6.val);

126 double c2=pi/2+thetab.val-theta6.val;

127 z5 = gsl_complex_polar (gl[2*k]*2*F/eta,c2);

128 z6 = gsl_complex_add(z6,z5);

129 }

130

131 | 29 = gsl_complex_sub(z10,z6);

132 | H = gsl_complex_abs2(z9);

133 X2 = AxHx*1.0e+28;

134 | X = 3%X1/4+X2/4;

135 dif = dif + pow((Input[1][n]-Y*X),2)/(Y*X);

136 | }

137

138 | chi=dif/14;
139

140 if (chi < CHI){
141 CHI = chij;
142 g0 = glo0l;
143 gl = gl1l;
144 g2 = gl2];
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145 Const = Y;

146 dPhi = dphi;
147 }

148 else continue;
149 | }

150 | }

151

152 | }}}

153

154 | printf ("Reduced chi square = %1f\n",CHI);

155 | printf ("Best estmts of abs coeffs are\ng0=%1f\ngl=%1f\ng2=/1f\n",g0,gl,g2);
156 | printf ("Best estmts of cnsts are\nConst=%1f\ndPhi=%1f\n",Const,dPhi);

157 | return O;

158 | }
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